
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

3.667 × ________ = 366.7 9.185 × ________ = 9185

8.162 × ________ = 81.62 3.458 × ________ = 34.58

2.846 × ________ = 2846 6.173 × ________ = 6173

4.167 × ________ = 4167 10.804 × ________ = 10804

8.297 × ________ = 829.7 8.092 × ________ = 8092

7.125 × ________ = 71.25 4.972 × ________ = 49.72

8.297 × ________ = 829.7 7.201 × ________ = 720.1

10.156 × ________ = 10156 9.616 × ________ = 96.16

6.848 × ________ = 6848 2.538 × ________ = 253.8

9.192 × ________ = 919.2 3.033 × ________ = 303.3
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